Pahlen

Jet Swim Motion
Premium pool equipment

Grundsats + Monteringssats

Base unit + assy. kit
JIInueBasa naHenb + KoMmnnekr o06BA3KU

Marine

Pahlén AB, Box 728, SE-194 27 Upplands Vasby, Sweden
Tel. +46 8 594 110 50, Fax +46 8 590 868 80, e-mail: inffo@pahlen.se, www.pahlen.com

RL30-04 rev 0

2018



o ®
Jet Swim Motion thlen
I Prerium pool equipment

Pump / Pump / Hacoc

Pahlén AB, Box 728, SE-194 27 Upplands Vasby, Sweden
Tel. +46 8 594 110 50, Fax +46 8 590 868 80, e-mail: inffo@pahlen.se, www.pahlen.com

RL30-04 rev 0

2018



RL30-04 rev 0

2018

Jet Swim Motion
I Premium pool equipment
Reservdelar

Grundsats + Monteringssats

Pahlen

Spare parts

Base unit + assy. kit

Reservdelsnr
Benamning Description Spare part no
A | Insugsgaller komplett Inletbars complete 636100
Klamring Clamping ring
B Packning @270mm t= 2mm Gasket @270mm t= 2mm 636101
Skruv MRT A4 M5x20 (8st) Screw MRT A4 M5x20 (8pcs)
Sjalvhaftande packning @284mm t=1,5mm Self-adhesive gasket @284mm t=1.5mm
C | Jetmunstycke komplett Jet nozzel 636102
D | Extra distans (for pool med kakel) Extra spacer (for pool with tiles) 636103
E Front Classic Front plate Classic 636104
Skruv MFT A4 M5x35 (6st) Screw MFT A4 M5x35 (6pcs)
F Front Marine Front plate Marine 636105
Skruv MFT A4 M5x35 (6st) Screw MFT A4 M5x35 (6pcs)
G | Startslang 2x4mm, L=1.5m Hose for start 2x4mm, L=1.5m 636018
Slang luftinblandning 8x12mm, L=0.8m Hose for air injection 8x12mm, L=0.8m
H 636017
Slangklamma 8-14mm Hose clamp 8-14mm
I | Skjutventil 2” méassing (1st) Gate valve 2” brass (1pc) 636023
Pump Pump
Reservdelsnr
Pos | Benamning Description Spare part no
J 16 | Slangklammer (68—73mm) 22" (4st) Hose clamp (68-73mm) 2%%” (4pcs) 636007
17 | Tryck/sugslang @63mm 2'%” L=125mm (2st) | Pressure/suction hose @63mm 24" L=125 (2pcs)
K 18 | Slangsockel 2°x63mm (2st) Hose connection 2"x63mm (2pcs) 636008
14| Avtappningsplugg M6S A4 M6x10 Drain plugg M6S A4 M6x10
L : 636006
15| Packning Gasket
11| Pumphijul Impeller
L Kupolmutter M12 Domed nut e
N 1 Motor 2.2kW 3-fas IE3 Motor 2.2kW 3-phase IE3 631266
400/230/50-460/265/60 A200/24 400/230/50-460/265/60 A200/24
2| Axel Shaft
(0] 636001
3| Stoppskruv SK6SS A4 M8x10 (3st) Set screws SK6SS A4 M8x10 (2pcs)
8 | Platta for tatning Plate for seal
P 9| O-ring 139.50x3.00mm O-ring 139.50x3.00mm 636004
10| Axeltatning Shaft seal
Q 21 | Pressostatswitch Pressure switch 636010
R 13| Pumphus Pump housing 631050
S | 1-12| Drivsida 1200 Drive end 1200 636027

Pahlén AB, Box 728, SE-194 27 Upplands Vasby, Sweden
Tel. +46 8 594 110 50, Fax +46 8 590 868 80, e-mail: inffo@pahlen.se, www.pahlen.com




RL30-04 rev 0

2018

im Moti Pahlen
Jet Swim Motion Pq en
I Premium pool equipment
3anacHble YacTu

INnueBas naHenb + KoMnnekT o6BA3KK

OnucaHue 3anacHas yacTtb Ne apr.
A | BogosabopHas pelleTtka B KOMMSEKTe 636100
Mpwx1MMHOE KonbLO
YnnoTtHuTenbHoe KonbLo @270mm t= 2mMm
E BuHT MRT A4 M5x20, 8. eI
Camoknetoleecs ynnoTHATENbHOE KomnbLo @284MMm t=2MMm
C | Conno B kKOMMNeKTe 636102
D | lNpocTaBka B KOMNekTe (Ana 6accenHoB ¢ kadenem) 636103
Inuesas nanenb Classic
E BuHT MFT A4 M5x35 (6wT.) 636104
Jlnuesas naHenb Marine
g BuHT MFT A4 M5x35 (6LwuT.) cenils
G | NMHeBMoLWNaHr Ans nHeBMoBbIKNtoYaTens 2x4mm, L=1.5m 636018
MHeBmoLNaHr Ans nogayn Bo3gyxa 8x12mm, L=0.8wm
H o 636017
LLinaHroBbIn 3axxum (xomyT) 8-14Mm
| | 3anopHbIv KpaH 27, naTyHb 636023
Hacoc
Ne | OnucaHue 3anacHas 4actb Ne apt.
J 16 | lUnaHrosbIv 3axuMm (xomyT) (68-73 mm) 22" (4T) 636007
17 | WnaHr HanopHbl/BcacbiBatowmin @63mm 272" L=125 (2wrT)
K 18 | MepexogHuk, NNacTuk 2"°x63mm (2wT) 636008
L 14 | OpenaxHasa npobka, (BUHT M6S A4 M6x10) 636006
15 | YNnoTHMUTENbHOE KOmnbLO
M 11 | Pabouee koneco 636005
12 | KynonbHas ranka
1 | Onektpoagsuratens 2.2 kBT 3-chasHbin IE3 400/230/50-460/265/60 A200/24 631266
2 | Ban
© 3 | CtonopHbI BUHT SK6SS A4 M8x10 (3wT) 636001
8 | L1t TOpueBoro ynnoTHeHUs
P 9 | YnnoTtHutenbHoe konbLo 139.50x3.00mm 636004
10 | TopueBoe ynnoTHeHve
Q 21 | MHeBMOBbIKNOYATENb 636010
R 13 | Kopnyc Hacoca 631050
S | 1-12 | NpwuBog B cbope 636027

Pahlén AB, Box 728, SE-194 27 Upplands Vasby, Sweden
Tel. +46 8 594 110 50, Fax +46 8 590 868 80, e-mail: inffo@pahlen.se, www.pahlen.com



